
Formelblad för MVE470, läs̊aret 17/18

Trigonometri.

cos(x+ y) = cos(x) cos(y)− sin(x) sin(y)

sin(x+ y) = sin(x) cos(y) + cos(x) sin(y)

cos(x) cos(y) =
1

2
(cos(x− y) + cos(x+ y))

sin(x) sin(y) =
1

2
(cos(x− y)− cos(x+ y))

sin(x) cos(y) =
1

2
(sin(x− y) + sin(x+ y))

tan(x+ y) =
tan(x) + tan(y)

1− tan(x) tan(y)

Integralkatalog∫
xa dx =

xa+1

a+ 1
+ C , a 6= −1

∫
1

x
dx = ln |x|+ C∫

sinx dx = − cosx+ C

∫
cosx dx = sinx+ C∫

1

cos2x
dx = tanx+ C

∫
1

sin2x
dx = − cotx+ C∫

ex dx = ex + C

∫
ax dx =

ax

ln a
+ C , 0 < a 6= 1∫

1

x2 + a2
dx =

1

a
arctan

x

a
+ C , a 6= 0

∫
f ′(x)

f(x)
dx = ln |f(x)|+ C∫

1√
a− x2

dx = arcsin
x√
a

+ C , a > 0

∫ √
a− x2 dx =

1

2
x
√
a− x2 +

a

2
arcsin

x√
a

+ C , a > 0∫
1√

x2 + a
dx = ln |x+

√
x2 + a|+ C , a 6= 0

∫ √
x2 + a dx =

1

2
(x
√
x2 + a+ a ln |x+

√
x2 + a|) + C

Maclaurinutvecklingar

ex =

∞∑
k=0

xk

k!
= 1 + x+

x2

2!
+
x3

3!
+ . . .

sinx =

∞∑
k=1

(−1)k−1 x2k−1

(2k − 1)!
= x− x3

3!
+
x5

5!
− x7

7!
+ . . .

cosx =

∞∑
k=0

(−1)k
x2k

(2k)!
= 1− x2

2!
+
x4

4!
− x6

6!
+ . . .

(1 + x)α =

∞∑
k=0

(
α
k

)
xk = 1 + αx+

α(α− 1)

2!
x2 + . . . , |x| < 1 ,

(
α
k

)
=
α(α− 1) . . . (α− k + 1)

k(k − 1) . . . 1

ln(1 + x) =

∞∑
k=1

(−1)k+1x
k

k
= x− x2

2
+
x3

3
− x4

4
+ . . . , −1 < x ≤ 1

arctanx =

∞∑
k=1

(−1)k−1 x
2k−1

2k − 1
= x− x3

3
+
x5

5
− x7

7
+ . . . , |x| ≤ 1

Övrigt

Masscentrum (xT , yT , zT ) för Ω ges av xT =

∫∫∫
Ω
xρ(x, y, z) dxdydz∫∫∫

Ω
ρ(x, y, z) dxdydz

, analogt för yT , zT .

ρ(x, y, z) är densiteten.


